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Sonnet #1
			Ten of the fourteen lines should have ten syllables  (a)
			Ten of the fourteen lines should have ten syllables  (b)
			Ten of the fourteen lines should have ten syllables  (a)
			Ten of the fourteen lines should have ten syllables  (b)

			Ten of the fourteen lines should have ten syllables  (c)
			Ten of the fourteen lines should have ten syllables  (d)
			Ten of the fourteen lines should have ten syllables  (c)
			Ten of the fourteen lines should have ten syllables  (d)
		
			Ten of the fourteen lines should have ten syllables  (e)
			Ten of the fourteen lines should have ten syllables  (f)
			Ten of the fourteen lines should have ten syllables  (e)
			Ten of the fourteen lines should have ten syllables  (f)

			Ten of the fourteen lines should have ten syllables  (g)
			Ten of the fourteen lines should have ten syllables  (g)
			
	*Remove the rhyme scheme indicators in parentheses when you finish your sonnet.
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